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|ONIZATION ENERGY -IONIZATION ENTHALPHY

The electronic configuration of elements A, B and C are[He] 2sl, [Ne]3s1 and [Ar] 4sl
respectively. Which one of the following order iscorrect for thefirst ionization potentials (in

KJ.mol~1) of A, B and C? (2001E)
1) A>B>C 2) C>B>A 3) B>C>A 4) B>A>C
|E4 of magnesium is 178 kcal/ mole. The energy for thereaction (1998M)

Mg g = M g2+(g)+2e islikely
1) +170 kcal 2) +526 kcal 3) +356 kcal 4) - 356 kcal

Which one of the following relationsis correct with respect tofirst (1) and second (I1) ionization
potentials of sodium and Magnesium? (1995M)

1)|Na>|Mg 2)|Mg>”Na 3)”Mg>”Na 4)”Na>”Mg

The atomic number of vanadium (V), chromium (Cr), manganese (Mn) and iron (Fe) are

respectively 23,24,25,26 which out these may be expected to have the jump in second ionisation
enthalpy: (AIEEE-2003)

1) Mn 2) Fe 3)V 4)Cr

Thelq, I, I3, 14 valuesof an element “M” are 120 kJ/mole, 600 kJ/mole, 1000 kJ/mole and 8000

kJ/mole. Then the formula of its sulphateis
1) MSO4 2) M2(SO4)3 3) M2SO4 4) M3(SOy)2
11 22 3)4 44

Thefirst ionization of enthalpies of four consecutive elements present in the second period of the
periodic tableare 8.3, 11.3, 14.5 and 13.6 respectively. Which one of the following isthefirst
ionization enthalpy of nitrogen?

(1)13.6 (2)14.5 3)11.3 4)8.3

Which of the following has maximum ionization enthalpy?

DK 2)Na 3)Mg (4)Be
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Which one of the following has lowest |E1?

1) Oxygen 2) Nitrogen 3) Fluorine 4) Neon

With which of the following electronic configuration an atom hasthe lowest ionization enthalpy?

a) 1s'2s°2p® (b) 1s'25*2p°3st (c) 1s'2s*2p°® (ds2s%p °

KEY

1)1 22 34 A4 52 62 N4 8l 92
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